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Writing Linear Equations Review
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I. Find the slope of the line containing the points A(2, 2) and B(6, 3).
Use the formula: 3 - 2 i ) \4
_ V2" M = -z »} \S\OPQ\S u'\

Xy —Xq

2. Find the slope of the line containing the points A(—- 1, —7) and B(— 6, —5).
S
m - 5

3. Find an equation, in slope-intercept form, of a line having slope 3 and y-intercept 2.

Slope-intercept form: Y = mx =+ b where m is the slope and b is the y-intercept
M = 3 h=1
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4. Write an equation ot the line with slope — and y-intercept —4.

- L : 3
Mm=3 bz-4
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5. Write the equation 5y —2x = 3 in slope-intercept form.
Move all terms around so that y is alone.
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7. Write an equation of the line shown in slope-intercept form.

-8 m = -2

b= <oc"‘3 b‘:"i

Now place into
y=mx+b _

[V=-2x+4

8. Write the equation of the vertical and horizontal lines that pass through the point
(7,-3) > Hor Tverr

***Recall that vertical means a line going straight up and down. This means it will
always have the same x value no matter the y value. Graph the point, then graph the
vertical line.

***Recall that horizontal means a line going right to left. This means it will always have
the same y value no matter the x value. Graph the point, then graph the horizontal line.
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9. Write an equation of a line with slope 2 passing through the point (3, -5).

Use both slope intercept form and point slope form for practice.

y=mx+b y—y =m(x —x;)

Plug in m, x, & y and solve for b. Plug in the point and slope!
~5=2(3) +b Y+6 =2(x-3)
‘_E +Lo +b W 7 % J
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10. Find an equatlon for the line w:thﬂflnaehhe;slope and passing through the point (-2, 4).

For a slope to be undefined, it must be 5‘35 :t, Verk

For a slope to be zero, it must be %' —> Ho¢ 12onveld




11. Find the y-intercept of the line containing the point (—4, 2) with undefined slope.
Hint- Try graphing it ©
X= ""l nt
e 1 no Y intercept

A 4

12. Find the y-intercept of a line that passes through (5, 11) and has a slope of 5.

Hint- T?_g{rapr??ng it ©_ - 7/ =mx+b
e 1= 5(8) +b
ISR ANnNanE Il =25 +b
A 2728
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